
 

Paper: 1MA1/2F 

Question Answer Mark Mark scheme Additional guidance  

19 (a) 0.517(0189759) M1 

 

 

for any correct partial calculation, eg 40.113 or 6.333(482454) or 12.25 

or answer of 0.51 or 0.52  

or digits 517… 

 

 

   A1 

 

for 0.517(…) Answer must be given to at least 3 

decimal places rounded or truncated.  

Check first 3 significant figures only. 

 

 (b) 0.52 B1 

 

for 0.52  

or ft their answer to part (a) correctly rounded to 2 sf, provided part (a) 

has at least 3 sf  

 

Do not accept trailing 0, eg 0.520 

20  16.2 M1 for a correct first step to find BC,  

eg 192 = 102 + BC2 or 192 – 102 (= 261) or √192 - 102  or √261 or 3√29 

 

Can use alternative letter for BC provided 

intention is clear 

If using an alternative method using 

trigonometry must have BC as the only 

unknown 

 

   A1 

 

for answer in the range 16.1 to 16.2  

 

ISW incorrect rounding if answer given in 

range 

21      (a) 2 × 3 × 3 × 5 M1 for a complete method to find prime factors; could be shown on a 

complete factor tree with no more than one error or by division by prime 

factors with no more than one error 

or for 2, 3, 3, 5 

 

Condone the inclusion of 1 for this mark 

   A1 

 

for 2 × 3 × 3 × 5 oe 

 

Accept 2 × 32 × 5 

 

 (b) 36 B1 for 36  

 

Accept 22 × 32 or 2 × 2 × 3 × 3 

22  4 

 

M1 

 

for method to use formula, eg 72 ÷ 6 (= 12) or 72 ÷ 9 (= 8) 

 
Can be implied by 

72

6
 or 

72

9
 

   A1 

 

cao  

 

 




